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Addition Word Problems

There are 7 pencils in the drawer. Dan placed 9 more pencils in the drawvwer.
Howy many pencils are now there in tatal #

Tom picked four plums and Mancy picked six plums from the plumitree. Wike
picked two pears from the pear tree. How many plums were picked in all ¢

Jason grewe 9 watermelons and 2 cantelopes. Tim grew 4 watermelons.
Howy many wat ermelans did they grow in total ¢

There are twio wwalnut trees currenthy in the park. Park workers will plant four more
walngt trees today. How many walhut trees will the park have whean the
warkshers are finished 7

A restaurant served three hot dogs during lunch and five during dinner today.
Howy many hot dogs were served today 7

Mike has 2 cookies and B pears. Melanie ate 5 of Mike's cookies.
Howy many caokies did Mike have to start with ¢

Alyssa has nine red marbles Fred has three red marhles.
Howy many red markles do they have in all ?

Timfound 4 seashells and Joan found 9 seashells on the beach.
Wyhen they cleaned them, they discovered that 6 were cracked.
Howy many seashells did they find together ¢

Tim's dog had puppies. He gave six to his friends.
He now has sewen puppies left. How many puppies did his have to start with ¢

Jdoan went to 4 hockey gamesthisyear, bt missed 2. She went to
2 games lastyear. How many hockey garmes did Joan go to in total @
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